













































































*Leftmost Derivation		
➢Find Leftmost derivation of the	S →AB	
Following Grammar ?	→aBB	
$S \rightarrow AB \mid \epsilon$	→aSbB	
$A \rightarrow aB$	→aεbB	
$B \rightarrow Sb$	→abB	
Derive the string abb	→abSb	
	→abɛb	
	→abb	
Prepared By Mr. EBIN PM, AP, IESCE		EDULIN®

*Rightmost Derivation		
Find Rightmost derivation of the	S →AB	
Following Grammar ?	→ASb	
$S \rightarrow AB \mid \epsilon$	→Aεb	
$A \rightarrow aB$	→aBb	
$B \rightarrow Sb$	→aSbb	
Derive the string abb	→aεbb	
	→abb	
Prepared By Mr. EBIN PM, AP, IESCE		EDULINE



























































